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FM Chp4-COST OF CAPITAL
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Deb preference Equity Retained
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. Capital Sh
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(RP) (Re) (kr)
-
In this chapter we will learn to-
is calculate Rd

, kp ,
Ke & Ky

ii) calclate weighted Average cost of
Capital (WACC or ko]

ke= 15% ESL= 4 ur E10 Cr
MV foods Invest projects/Assets
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~
wa

sell-Return
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calculation of weighted Average cost of capital
sources Amt (E) weig wix cints (wil cost ((i)
ESC 4 cr We
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R&S I cr Wr = / 10 = 0. 10 kr = 1540 1

.
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.
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TIME VALUE OF MONEY

If FV of a single Amount
suppose you invest 10

, 000 in a bank's fixed

deposit. Interest Rate is 10% p . a . What will

be the F.V . at the end of 3 years?
⑧ I 2 3

I I

= 10 ,
000 11 ,000 12 100 13,310

+ 10% +10%-a- teal r

present value [FVs]
of F.

D
.

The value of FD today [PV=E10 ,000]
becomes E13 ,310 [FV3] at the end of 3rdyt
if interest rate is 1090 p .a .

E
10 ,000

+ (107= x10,000) = 11,
000

-

11 ,000
+ (10% x 11 ,000) = 12, 100

12
, 100

+ (10% x 12 , 100) = 13 ,
310E -

-1090+10% +10%

10 ,000 x (1+ 109) x (1 + 107) x (1 + 10%)
=> 10

, 000 x (1+ 0 , 1073 = 13
,
310

-- -

PV x (1 + 2) = FUn
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Example 2

⑧
Int Rate= 1290

10

E50
,000 FV , 0 = Y

FU10 = PVX(1+ r)
=> FVio = 30 ,000 x (1+ 0 .12)

=

50
, 000 x 3

. 106

=> FV
,0

= E1
, 35 ,
300

It Pr of a single Amount

Eg : Suppose you are going to receive

E1 ,
00,000 after 5 y from now . Then

what will be the P.V
.,
if interest rate

is 1590 p .a .?
0 5

Int Rate= 15%

DV = ? 1,00 ,000

~ AVs

FUn= PV [ 1+v)" - Pr=
=> ↑V = 1

,
00,000 = 0 = 49

,
726. 50

-

(1 + 0 . 1575 2..011
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=pu

=1
1

00
,

00a
=> 1 ,00 ,000 x 0 .497= E49 ,

400

* Discounting factors & 19%

[Present value Interest factors -> PVIF(1590 , n)]
19 ye he end he El hi value- aaj 15% -0 .870

2ndyr he end he El hi value- adj 15%-0.756

3rd yo he end he El hi value-aaj 15%-0 .
858

4th yo he end he El hi value-aaj 15%-0.572

sm yo he end he El hi value-aaj 15%-0.497

#YPV of Annuity uniform Cashflows for

finite period]

E:SupposeasGetacontract ,

a
ee
the end

of every year upto 5 yes . Then what is

the P.V, if rate is 15%.

O I 2 3 4 S

I I 7 I

12 12 IL 12 Th

PV = 12 I

e
-P=

2 . 1975
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pr : 5 * 52 is it(- 155

I
=

I s)' + (its + 1)+ " "
+ 12 ( 5)

= I2(0 .870) + 12(0 .756)+ 12(0 .658)+ 120.572)
+ 12 (0 .497)

= E3
, 35 ,300 .

O

1L (0 .870 + 0 .156 + 0 . 658 + 0 .572 +0 .4)
=> 12 x 3 .

353
=> 300

DV of = A x PVACU , n) OR

Annuity -ine
-

-

present value Interest factor present value Interest factor

[PVIF] Annuity (PVIFA or OVAF]
-

.Eg: PVIF (1590 +5) Eg: PVAF(1540 , 5)
⑧ 5 O 1 234 S

I I I I I I I I

! El
El El El El El

↳ S
55

= 0. 497
4VAF(159r

,5) 5) 52 s
+
,5

+1515 = 3 .353
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My ov of Perpetuity [uniform Cashflows
For Infinite period]

Eg: Suppose as per a contract , you are

going to receive EIL of the end of each

year for infinite period .
Find DV ,

if

interest rate is 1290
.

0 I 2 3 ........
I I I I

12 Ih IL 12 .. ... s

pr of perpetuity : Frz22 12
-

3

- ..............

↑

- =

EY p.V . of uneven cashflow

0 I 2 3
PV=⑭

asI I I (1-10]

6,30- PV= ? 12 24 SL

Discountins =1x(+ 224)"...
Rate = 1090

= 12 x (0 .909) + 22(0.826)
~

I10 + SLX(0.751)

ore
= E6

, 31 , 600
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Basic task of finance * Main ectiveobj
manager is EFFICIENT- ouFin
it Procurement &
iiyutilisation of funds .

wealth (values max
e
[ I-=

Thus ,
a finance manager has to select

such a capital structure where
Le

Expected Return of Fund Providers (WACC]
is MINIMUM
--
--

↓

when WAC is Minimum , value of firm
will be MAXINISED

Hence, for this purpose , we need to
calculate the cost of various sources of finance
& WALL .

* cost of CAPITAL
↓ ↓

is NoT just what Bur it is ALSO the
e

amount company return expected by
pays on its capital the providers of

(funds Capital (funds)

Investor - WACL - companyar -
Fund Provider.- - ⑳

=1590 co . Mei funds
tr

Return expected no use karne
on funds providedto ce. Ra Kharcha .
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* cost of Capital is expressed in terms
of "rate" -> To form .

* cost of Capital is alla
--

-> nt off rate
,
or

-> Hurdle rate ,
or

-> minimum rate of return
.

*SIGNIFICANCE OF COST OF CAPITAL

i) It helps in evaluating investment decisions
cost of capital is used as discounting rate
while making investment decision .

ily Helps in taking financing decision .
Finance

manager will select that source of finance
whose rost is lower, while also considering
risk & control

iii) Designing optimum credit policy . [Average
collection period]

* COST OF LONG TERM DEBT [Ka]
· External Borrowings or debt instruments -

it do Not have ownership of company .

ily do Not participate in the affairs
of the company (no voting right]
iiiy But , they enjoy a charge against
profits BEFORE taxes .
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PBIT -> trel-ve
- Interest

- must bepaid - charge against
profir .

PBT
- Tax
PNT

c XEaeiry Paid anywhen propriatiapref Div

*"CONG TERM DEBT" Includes

t & ↓

long term loans Debentures/Bonds
from F

.
I .

fr
↓ In this chapter we will calculate

similar to d Id on Debentures Bonds only .

on Redeemable
Debentures

.

*IMPORTANT NOTE
-> Interest on Bonds/Deb . is always calculated

on FACE VALUE
.

-> company gets a benefit of Tax shield (saving)-

on Interest expenditure .

Example co. M Co .
N- -

-

Total capMl=E10L Total Capital = E10L
I

- - - -

ESC= E10L LTD = 0 ESC= E6 L 10% LTB = 4 L
(15h= = 10) (15h= = 10)
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particulars co
.M (E) co

.
N (E)

PBIT (Assume) 3 ,00 ,000
·

3 ,00,000

> Interest - (40 ,000)
PBT 3 ,00,000 2

,60 ,000
E12K

71 Tax (3090) (90 ,000 (78 ,
000)

PAT + EFES 2
,10 ,000 Saving / ,82 ,

000

1:) No. of fash. 1,00 , 000 Sh . 60 ,000 Sh .

EPS =2 . 10/sh E 3
.031sh

.

In above example , co . N paid interest of
E40 ,000 , due to which it had to pay
lower rax by E12000 [40 ,000 x30%]
n
Tax saving (Shield)

on Interest

10% LTD En Co .

28
,000②

--

N 4L-10K

-
40

,000-12,000 = 28
,000 trees Yep.

Thus
,
cost of using debt for Co . N is

kd =-00 - 790
4 ,00 , 000

This proves that Interest rate on Debt
is e equal to red always .

Also
,
for calculating d -> Interest wer of Tax

[Interest (1-t)
-

- I
is used .
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